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y=Ff(x): 1 EHEH 2:
DEE
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2 EBEBORHIMREOER

z="f(x,y) Idm A(a,b) T x ICEAL TRMDAIEETH B LT

f(a+ h,b) —f(a,b) ()

z=f(x,y) % 2BHREK A, b) EEALTRLE, 2 THEH

jm, FE5
MHEFEETZE,
(x) 28 A(a.b) IKBHS F(x,y) D x BT 3EMAMERE LT, 2
of 0z
f(a,b), —(a,b), — e
Ox X (. y)=(a.b)
TKRY,
y ICET 3 RMS RO RKRICESD 3,
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EHBTBY,
(x) & y ZEB b ICEELT, f(x,b) & x DHD 1 EHERLHTHS LIHD
WS ZENTES.
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2 EHRBOREEBOESR ~
(i) B z=f(x,y) EE D DERTRBAAETH S L E, D TRIEST
BETHD WS,
(i) (x.y) € D IR LTHMAEE f(x,y) DSREZHD, CAICE>TRES
E3E5

(%, ¥) = f(x,y)
Zz="1(x,y) D x ICEAT 3 REEH TV,

s

Q

0 f 0z
ﬁ((va)7 (f(X7Y))X, f;ﬁ af(xvy)a aa Zx, a
BETKRY. y ICHITZRERBOERICED B,

(iil) FEERERDZEEREOTIEWNS. )
\
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B 1]
(1) fx)=x*+3x+2 DL
F(x) = (x*) +3(x) + (2) = 2x + 3.
(2) f(x)=x*+ax+b (a bIIER) D&
f'(x) = () + a(x) + (b) = 2x + a.
(3) flxy)=x*+xy+y? QL& EME?

fl(x,y)=2x+1+42y7?
(,y)=2x+y+y>?
f(x,y) =2x+1+y??

x<h
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2 BHEEK
RIBDHRE - (R
[ 1 DIERE]
(1) f(x)=x343x+2DLE
F'(x) = (*) +3(2) + (2) = 2x+3+0.
(2) F()=x2+ax+b (a blIEH) DL =
F/(x) = () +a(x) + (b)) =2x+a+0.
(3) fl,y)=3*+xy+y* OLE y ZEBLRT x THHLT

()4 () ey + () =2+ y +0.

~-
—~
<
~—
|

(B) f(x,)=x2+xy+y> DI x EEFHLRET y THHLT
f,(x,v) = (x3), +x(v), + (V3), =0+ x+2y.
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EHSEM - R

BHAETE, | TRERONS EOHESEN TR TEX S,

B12] SREMONSENER S,

AREROMAEEEBLES.
%%P@)@#bbté&@)%ﬁ5oﬁ0§%!o

(1) f(x)=(2x+3)* DEF 2x+3 =t LEVTEREHOMDEEFES &

f'(x) = d (2x—|—3)

di

dy d, d _d, d
— t = —t —(2
b T @t Cm @t &I

= 413 x 2 = 8(2x + 3)°
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(2) f(x,y)=(2x+3y)* DLF 2x+3y =t LEVTERBEBOMAEZES &
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(B 3]
(1) f(x)=sin(2x+3) DEE 2x+3 =t ELEVWTEHRRDOMDEZED &

f’(x):o%sint:%sintx%:%sintx0%(2x+3):2cos(2x+3)

(2) f(x,y)=sin(2x +3y) DEE 2x + 3y = t LEVWTERBEROMSEZE
St

£i(x,y) = (sin(2x + 3)), = (sin),
= (sint), x t, = (sint), x (2x + 3y)x = cost x 2 = 2cos(2x + 3y)

f(x,y) = (sin(2x + 3y)), = (sin®),
= (sint), x t, = (sint), x (2x + 3y), = cost x 3 = 3cos(2x + 3y)
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WS - EER
2 T
R R - (REBEHK
[l 4] BOWMDEEFESI LN TES.
(1) f(x,y) =xysin(2x +3y) DL E ADWIEICED
f(x,y) = (xy)xsin(2x + 3y) + xy (sin(2x + 3y)),

= ysin(2x + 3y) + xy (2 cos(2x + 3y))
= ysin(2x + 3y) + 2xy cos(2x + 3y).

f,(x,y) = (xy)y sin(2x + 3y) + xy (sin(2x + 3y)),
= xsin(2x 4+ 3y) + xy (3 cos(2x + 3y))
= xsin(2x 4 3y) + 3xy cos(2x + 3y).
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[Bl5] E= ! ERERTER
1) f(x)=VC+1DEE 2 +1=t LHEVTARBROBIEEES &
dt  d d 1,

d d . .
fl(x)= —Vt=—t2 X — = —t2 X — 1 T X 2x =
() = goVE= gt X g = get! X g (¥ ) =5t x2x 1

X

(2) Flxy) = /212 DEE 24y = t LEWTARBROBSEERES &
f(x,y) = (W)X = (t%)x

Y

t%)xt (t%) K (2 4y?), = Sthx2

= = X —_ - - 7
e 7 t Yy =3 Y V/x2 4+ y2
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